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Exercise-5

1. Number of apples in a box =117
- Total number of apples in 6 boxes =117 x 6 =702

olc)
141
;

NN N

7

Thus, there are 702 apples in 6 boxes.

Thus, the total weight of 8 bags of rice is 1000 kg.

4. A box full has 145 balls.
- Number of balls in 65 boxes= 145 x 65 = 9425
So, there will be 9425 balls in 65 boxes.

2. Weight of one bag of rice = 125 kg
Total weight of 8 bags of rice = 125 kg x 8 = 1000 kg

@0
125

x 8
1000

3. The greatest 2-digit number = 99
. 101 x99 =9999

5 A vegetable seller earns ¥ 575 daily.

-. Earnings of the vegetable seller of 16 days

= I575x1¢

= 39200

able seller will earn< 9200 in 1¢ days_ _

rt for T 295.

So, the veget

6. Mr Roy sells a shi
He will sell 32 shirts

. So,MrRoy will ge

e e

for T 295 x 32 =% 9440

oM forRahing
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> school librar .
7. The schoollibrary has 8 oy pboards. Fach cupboard has 155 books

. Total number of books in the library =155 % § ®®
155
=124() x 8
So, total number of books in the library is 1240. 1240
8. Weight of 1 book = 556 g |
.. Weight of 7 books together = (556 x 7) g ?C;) 6
=3892¢ 59 ;
So, the total weight of 7 books is 3892 g.
; Fun Time
9 x 555 = 4995
9 x 666 =5994 -

Review Exercise

L@ 060 ® 06O (0) D6
| 183 37 4 115
X 7 ' X 5 x 7
120 8:51 1870 8 0 5
2. (a) 235 ® 205 ( 2 3 4
x 1 3 x 2 1 x 2 2
7. 0%5 2. 055 4 6 8
+2 350 +4 100 +46 80
3055 4 -3 0=b 51 4 8
(d) 1-2:11 (e) 118 (f) 1::1. 4
x 1 1 x 178 ; b ken 22
7201 590 72 8
41210 +1180 £'2:208.0
133 L 1.7 7.0 g
3. Number of pages in one book =147 1 ;1 g
X ' - : X
. Number of pages in 35 books 147235 7375
e "‘5145 +4410
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4 Cost of one packet of balls =% 110

11 g

. Total cost of 25 packets of balls =% (110 x 25) -h;——z-i

” ° 30
=% 2750 v22 0

So, total cost of 25 packets of balls is ¥ 2750. 2 750

5. Number of mangoes in a box =255

- Total number of mangoes in 7 boxes =255 x 7 = 1785

@0
2 5.5

x 7
157 “§*%5

Thus, there will be 1785 mangoes in 7 such boxes.
6. Money saved by Adil in a week =% 175
-. Money saved by Adil in a year =% 175 x 52 =% 9100

175
x 5 2
350
+87 5 0
9100

Thus, Adil saves % 9100 in a year. Yes, saving is good.
HOTS

We see that :

S0, the missing numbers are 1300 and 3380.
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